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SECTION-A

1. If the HCF of 65 and 117 is expressible in the form 65m – 117, then the value of m is

(A) 4 

(B) 2

(C) 1 

(D) 3
2. The product of a non-zero rational and an irrational number is

(A) always irrational 

(B) always rational

(C) rational or irrational 

(D) none
3. The number of polynomials having zeroes as –2 and 5 is

(A) 1 

(B) 2 

(C) 3 

(D) more than 3
4. One equation of a pair of dependent linear equations is –5x + 7y = 2. The second

                            equation can be

(A) 10x + 14y + 4 = 0 

(B) –10x – 14y + 4 = 0

(C) –10x + 14y + 4 =0 

(D) 10x – 14y = –4
5. The lengths of the diagonals of a rhombus are 16 cm and 12 cm. Then the length of the side of the rhombus is

(A) 9 cm 

(B) 10 cm

 (C) 8 cm 

(D) 20cm

6. If sinA=
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,then the value of cotA

(A) 
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(B) 
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(C) 1



(D)  2 
7. The maximum value of 
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sec

1

 is:
         (A) 1


(B) 2

(C) 0


(D) -1
8. The  value  of  P, if  cos( 81( + θ )  =   sin( 
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 - θ ).
(A) 0


(B) 27
(C ) 9


(D) 30

9. The value of 
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 is:

   (A) 
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(B) 
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   ( C) 2


(D)  1
10. What is the value of x, if the mode of the following data is 7:

8,9,7,4,4,7,9,8,4,7,8,x,3,5,2

(A) 8


(B) 9

( C) 4


(D) 7
SECTION-B

11. State which of the following equations are consistent and inconsistent?


4x - 3y -2 = 0


4x - 3y + 4 = 0



Justify your answer.

12. Without using trigonometric tables evaluate:- 
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13. If AD and PM are medians of triangles respectively ( ABC and ( PQR , where 


                        ( ABC ~ ( PQR. Prove that AB/ PQ = AD/ PM.
14. Nivedita has 440 laddo and 140 barfis. She wants to sack them in such a way that each stack has the same number, and they take up the least area of the tray. What is the number of burfis that can be placed for this purpose? 
15. ABC and DBC are two triangles on the same base BC. Prove that 
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OR
                    Prove that the area of the equilateral triangle described on the side of a square if half the area of the equilateral triangle described on its diagonal.

16. For the polynomial
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, what is the sum of zeros and product of zeroes.?

17. The mean of the following data is 6, find the value of 
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:
	
[image: image15.wmf]x


	2
	4
	6
	10
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18. Mode
[image: image18.wmf]75

.

43

=

, 
[image: image19.wmf]40

=

l

, 
[image: image20.wmf]62

1

=

f

, 
[image: image21.wmf]47

0

=

f

, 
[image: image22.wmf]37

2

=

f

. Find h

SECTION-C
19. Prove that 
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 is an irrational number.

                                             OR


            Using Euclid’s division algorithm, find the HCF of 144, 180 and 192.
20. Show that any positive odd integer is of the form 6q + 1, or 6q + 3, or 6q + 5, where q is some integer.
21. Find all the zeroes of x4 – 5x3 + 3x2 + 15x -18, if two of its zeroes are √ 3 and -√3.
On dividing x
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( 3x
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+ x +2 by a polynomial g(x), the quotient and remainder were   x(2 and (2x + 4 respectively.  Find g (x).

22. Solve the following system of linear equations graphically:   4x – 5y – 20 = 0;  

                  3x +5y – 15 = 0. Determine the area of triangle formed by these lines, and the line x=0.
23. Prove that: Sin6A + Sin4Acos2A – sin2Acos4A – Cos6A = 1 – 2 Cos2A

                                         OR         

                    Prove that: 
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24. Prove the Pythagoras theorem. Using it In the figure [image: image27.png]


ABC is obtuse. Then AC2 =AB2+BC2–2BC.BD


25. In a rhombus ABCD, prove that [image: image28.png]AB*+BC* +CD* +DA* = BD* + AC?




26. Find median

	CI
	0-20
	20-40
	40-60
	60-80
	80-100
	100-120
	120-140

	Frequency
	12
	5
	13
	10
	12
	18
	10


27. The annual profits earned by 30 shops of a shopping complex in a locality give rise to the following distribution :

	Profit ( in lakhs in Rs.)
	No.of shops

	More than or equal to 5
	30

	More than or equal to 10
	28

	More than or equal to 15
	16

	More than or equal to 20
	14

	More than or equal to 25
	10

	More than or equal to 30
	7

	More than or equal to 35 
	3


                          Draw both the ogives for the above data and hence obtain the median.
28. In ∆OPQ, right angled at P, OP = 7cm and OQ – PQ = 1cm.Determine the values of sinQ and  cosQ
SECTION-D
29. Prove that:   
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OR
                         Prove that: 
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30. Prove  that  in  a  triangle, if  square of one side is equal to the sum of the squares of the  other   two  sides, then  the  angle  opposite  to  the  first  side  is  a  right  angle. Using the above do the following:

    In quadrilateral ABCD, (B = 900. If AD2 = AB2 + BC2 + CD2, then prove that    (ACD =  900.

31. The mean of the following frequency distribution is 62.8 and the sum of all frequencies is 50.Compute the missing frequencies 
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	Class
	Frequency
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	Total
	50


32. If 
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33. Solve for  x and y:
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                                   OR

A man travels 370 km partly by train and partly by car . If he covers 250 km by train and the rest by car it takes him  4 hours . But if he travels 130 km by train and the rest by car , he takes 18 minutes longer . Find the speed of the car and the train.
34. On dividing x
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+ x +2 by a polynomial g(x), the quotient and remainder were   x(2 and (2x + 4 respectively.  Find g (x).
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